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1) Explain the statement "112972 7327 ymaon"?
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2) What does this imply regarding a 71n: 12 177

3) Explain the meaning of "o72"?

4) What do moon explain regarding a 70 32 107 that is o712 (and give an example)?

5) What does the mwn (in maind) write regarding a woman who gives her husband food that did

not have “wyn separated, and what do we see from this?

6) How do mooin explain why ynan npo72 is different?

7) What is the general concept of naw owin?

8) Explain why o>7231 o*w1 are believed regarding where the naw owin ends?

9) Why do o°1vp have a different 7 for naw ownn than for ynan np>7a (if they are both 112072)?

10) Where do we see in our x>0 that a21vp have less minxi than ov7ayy owa?

11) Complete the chart by putting a check if believed and an “x” if not:
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12) Complete the chart, to show whether or not they are believed in each case, and why:
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